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Question 36: She insisted on leaving the house.
A. he

B. him

C. himself

D. his

Answer: his



Explanation: 353 50 'leaving' X gerund (IR on-a7 object) | 3 F1RT® 7(E, gerund-ad J&
possessive adjective (my, our, your, his, her 2e71f%) Tz© 27|

Question 37: The phrase 'Achilles heel' means—
A. a strong point

B. a strong solution

C. a permanent solution

D. a weak point

Answer: a weak point

Explanation: Achilles' heel' Idiom-foa s & iz | 9318 option-STET (737 A1
a strong point - f& & i

a strong solution - %% &M (I ST

a weak point - 73 o

a permanent solution - 936 o= Tt ST

STodR, W% Tad a weak point.

Question 38: He does not adhere ___ any principle.
A. by
B. in
C. at
D.to

Answer: to

Explanation: Adhere-a3 (g apropriate prepxosition R to' 9% 2| Adhere to-76©1

Question 39: Millennium is a period of —
A. 100 year

B. 1 billion year

C. 1 million year

D. 1000 year

Answer: 1000 year

Explanation: Millennium RTST Sooo IR JATAT IF A (a period of 1,000 years, or the time
when a period of 1,000 years ends)



Question 40: Identify the passive form of the following sentence: "Who has broken this
Jug?"

A. Whom has this Jug been broken?

B. By whom has this Jug broken?

C. By whom this Jug has been broken?

D. By whom has this Jug been broken?

Answer: By whom has this Jug been broken?

Explanation: who' J& present perfect tense-a9 interrogative sentence-(¥ passive 319 forer
f@=T: who 93 sIff9t8 by whom + have/has + object as a subject + been + V + extension (if
any) +?

%3 structure ST AfF passive form fG 2&: By whom has this jug been broken?

Question 41: Who is not a Victorian Poet?
A. Alfred Tennyson

B. Robert Browning

C. Matthew Arnold

D. William Wordsworth

Answer: William Wordsworth

Explanation: One notable poet who is not considered a Victorian poet is William Wordsworth.
While he was a prominent figure in English Romanticism and played a significant role in the
development of English poetry, his major works were published prior to the Victorian era, which
is generally considered to have begun around 1837 with the accession of Queen Victoria

Question 42: Which of the following novels was written by George Orwell?
A. For Whom the Bell Tolls

B. Brave New World

C. A Clockwork Orange

D. 1984

Answer: 1984
Explanation: George Orwell 5 (F737 ST 1984. (F13F 28> W 36 feiya| 9@ fofa s> w8

ST AT FIA FE@A | (T AJIS (FT IP-TA @] N2 AR AT THe FAPIS FIFH
THEST 3 AT FE| 92 THACIF 9F(6 [FATTe AT “Big brother is watching you”.

Question 43: Identify the correct sentence:
A. She speaks English like English



B. She speaks the English like English
C. She speaks the English like the English
D. She speaks English like the English

Answer: She speaks English like the English

Explanation: English' a1a1 R@f& AT 438 The English' T187 @S Sfe JIET 27| ¥0F T30
3: She speaks English like the English (7 @S JoT 3@ ) |

Question 44: When one makes a promise, one must not go on it.
A. forward

B. around

C. by

D. back

Answer: back

Explanation: I o 'T4F (S a3 Jfers wF, T1F FI12 (6 ©5 F47 (IfeFs F FE
) Sfb® 9% | 31T option-ST (W] NF:

- (go) forward (FTET FTS SN TSN AfSF ST

- (go) back - Xt =T

- (go) by - Afex FAAGx1E 23T (to move past, in space or time)

- (go) around - F. JRTTE/INIY AT RETT; . (FNAT F/FHGH A6 I3 FT

oA, W3F Ted (go) back.

Question 45: | can't put up with him anymore. Here, "put up with" means:
A. To protect

B. To terminate

C. To prevent

D. To tolerate

Answer: To tolerate

Explanation: Put up with 3% =5 a7, MA@ @8I A option-SE (77 TF:
* To protect - %7 $41

* To tolerate - Xy %41

* To terminate (*¥ 41

* To prevent - SFSEN F4T

S[OAR, Nf3F Ted To tolerate.

Question 46: The poem "To his Coy Mistress" was written by-



A. Henry Vaughan
B. John Donne

C. George Herbert
D. Andrew Marvell

Answer: Andrew Marvell

Explanation: 2:&f& WIf2{@7d one of the best Metaphysical poets 23T 271 Andrew Marvell
(1621-1678)

f&fer =133 John Milton a7 Sfad I fte=l| Andrew Marvell-93 f32TTe FEATR fovsas:

To His Coy Mistress, The Garden, An Horatian Ode, The Definition of Love

Question 47: The synonym of "altitude’ is -
A. depth

B. width

C. length

D. height

Answer: height

Explanation: Altitude &g 3% T%©T| A3 option-STET (72T I
- height- T%eT

- length - =

- width - T IeT

- depth - STSIFGT, HTe]

Question 48: The character, Elizabeth Bennett, appears in the novel-
A. Jane Eyre

B. Tess of the D'lirberville

C. Wuthering Heights

D. Pride and Prejudice

Answer: Pride and Prejudice

Explanation: Jane Austen (1775-1817) (&% STf2(e3 Romantic Period-a7 anti-romantic novelist
RO 56| 'Pride and Prejudice’ 17 fF5Te SHATNTRS A& 9561 3 SHNEE T30
SfRET[RS &Y Mrs Darcy 3% Elizabeth Bennet Sieyes |

Question 49: This could have worked if | been more far-sighted.
A. have
B. would



C. might
D. had

Answer: had

Explanation: Conditional Sentence-a3 structure SIe13t past perfect conditional AT unreal
past-a7 structure fyaEs
If + subject + past perfect tense + subject + would/could/might + have + [verb in past participle]

Question 50: What may be considered courteous in one culture may be arrogant in
another. Here the underlined word, "arrogant” means—

A. pretentious

B. gracious

C. coarse

D. rude

Answer: rude

Explanation: /556 S@fefRe o1 936 igete (T A6 AfHe ©F e (F1AT3 SHo/ e
(arrogant) N 0@ *ME | A919 option-BTET (T ITFH:

rude - FL/ANFS

coarse- 5. (NGT: X. AfAE

gracious - S4/(TSey

pretentious - fIAG Ffow 1 SFET MEATH (FfFFoT RG))

SRR, N9F Tad rude.

Question 51: Don Juan was composed by—
A. WB. Yeats

B. E.B. Browning

C. Alexander Pope

D. George Gordon Byron

Answer: George Gordon Byron

Explanation: George Gordon Lord Byron (Lord Byron a1 Sif§$ed Afaft®) 2@ sTif2tes Rebel
Poet RROT #1fAfbw | ©IF T sTifRerereyz foeee:

Famous Books - The Vision of Judgement, Heaven and Earth, Hours of Idleness

Famous Poem - Child Harold's Pilgrimage, She walks in Beauty

Famous Epic - Don Juan

Question 52: Identify the imperative sentence:



A. What is your name?

B. Shahin is playing football.
C. I shall cook dinner now.
D. Shut up!

Answer: Shut up!

Explanation: (I sentence BTET (FIET AW, SAW, @1 5237 fI@5 TF77 1T ©1F Imperative
Sentence I | option (F)-(® Jfee 'Shut up!' T} ' Fa' ~B®2 AH6 S|

Question 53: 'Black Death" is the name of a—
A. fever

B. black fever

C. death of black people

D. plague pandemic

Answer: plague pandemic

Explanation: 5%+ et af31, 3ETT 43 BP0 THFPSE RO TO] 936 NRFMRF T3
'Black Death' 37 2ozt fIGIfaa (85T =T (bubonic plage pandemic) AT *f&@ftw | at@ 20@ETF
T AF-DOIIRT T[T 1o T |

RSN (TGS A 9FT6 INFHIRIT el 9 R TSN FIFT 932 SFHFCI FoAb & A6 95
oS M o2 92 FFGEIE (TAF | 92 SFF ARSI TG7@ SIS B N2E (75T ST
NG o2l I RfORIN ST (7 |

Question 54: Ulysses' is a poem written by—
A. Robert Browning

B. Wordsworth

C. S.T. Coleridge

D. Alfred Tennyson

Answer: Alfred Tennyson

Explanation: RS $e1fG o3 53131 27 S8 WET| 9391 (RITF 432 U@ F93 STSITeNE
e RAME (Gfasa | f[RUE FE @ENEFe FRF1ES 2FIRG (W@ fof RSFAMS (T2 SeyEraen @re
FEA| RfTAC TRPNETA 250 T ROfA|

Question 55: Who wrote the poem 'Ozymandias’?
A. Thomas Hardy

B. Robert Frost

C. Edmund Spenser



D. P.B. Shelley
Answer: P.B. Shelley

Explanation: Ozymandias' was written by English Romantic poet Percy Bysshe Shelley
(1792-1822). Although a member of the upper classes Shelley was a radical young man,
eloping twice with young women; he died at the age of just 29.

Question 56: Clym Yeobright is the protagonist of the novel—
A. David Copperfield

B. Adam Bede

C. A Passage to India

D. The Return of the Native

Answer: The Return of the Native

Explanation: Clym Yeobright, fictional character, an idealistic young man who returns from a
stay in Paris to his home on England's Egdon Heath, in Thomas Hardy's novel The Return of
the Native (1878)

Question 57: The train is running forty miles an hour.
A.on

B. to

C. for

D. at

Answer: at

Explanation: %8 sifete sar (Speed) JATe preposition 'at' I992® 2J| The train is running at
forty miles an hour ((EF4f6 TG BferT 12 SISt HeIm) |

Question 58: He divided the money the two children.
A. in between

B. over

C. among

D. between

Answer: between

Explanation: STYTR<® 7(IF F&S JI© 'between’ 933 T(IF I M IO 'among' 970 27|
between- The contract is between you and me.



among - She divided the money among her sons.

Question 59: No one can that he is clever.
A. defy

B. denounce

C. admire

D. deny

Answer: deny

Explanation: IIFHF - (FC THFE FA® TEE 1 (F (T EFNF | 91T option-SET (T ITF:
defy- FF1CT fAEIEST F47, SRS 1 FA7

deny - &y I FFE o1 FH1, TFFF FAT

denounce - SFICT foi=1 FAT

admire - SHRE/TRET FAT

STOAR, NOF Tad deny.

Question 60: Choose the right form of verb: The boy (to lie) on the floor yesterday.
A. lies

B. lied

C. layed

D. lay

Answer: lay

Explanation: Si{3% /36 2@ The boy lay on the floor yesterday | T yesterday N1 'CTRAT a1
lie-aF past form 'lay' 9% & | SOF Sad lay.

Question 61: She played on the flute. Passive form is—
A. The flute was played by her.

B. The flute was being played by her.

C. The flute was played to her.

D. The flute was played on by her.

Answer: The flute was played on by her.
Explanation: Play on the flute’ 31% % fue@ I1f IWETI 2%8 0T 'play on' 936 group verb; ©13

passive AT W¥F 'on' preposition-o I (78T INF 911 IFIM past indefinite tense-a AP
passive structure-fb 2@ object as a subject + was/were + V: + by + subject as an object.



Question 62: Antonym for Adieu
A. Farewell

B. Good bye

C. Valediction

D. Hello

Answer: Hello

Explanation: Adieu' %G French % I F1S@ [AWT SAIET T [AITF T SSFHAT ST o0
2@ T A919 option-BTET (MAT JTP:

Farewell - fwrm

Hello - 1578 STaT0e/7(8 P T97© 27

Goodbye - 89 m/RmRt sesr

Valediction - faw &R«

STOSNR, JWs option SRF JET 'Adieu’-a5 antonym 2(F- 'Hello'.

Question 63: Walk fast lest you should miss the train'. This is a—
A. Simple sentence

B. Compound sentence

C. Interrogative sentence

D. Complex sentence

Answer: Complex sentence

Explanation: And, or, but, for, nor, yet, so 2&51 2 coordinating conjunction 43 a59
conjunction (clause marker) T5321E FE& I¥ aF{b sub-ordinate clause (FIET principal clause 98
T Y& T ©d F1F6 compound sentence 2J| A, lest 936 subordinating conjunction J1
principal clause-a3 TG S17F A%{6 sub-ordinate clause I& FE 972 ©¥F F56 complex sentence
BRI

Question 64: A number of singers in a church is called—
A. Clump

B. Cast

C. Claque

D. Choir

Answer: Choir

Explanation: Choir - 0% S dFe@as &i5ie ([Tog el STEFT™
Cast - AH3/NENNEF AfSHO-ASHATNZ

Claque - T RH/S2NG T Sl [@1fre wer

Clump - 8%, ATS (FF1A)




Question 65: Put the right word in the blank. "He reached the of his literary
career."

A. abattoir

B. abdicate

C. admonish

D. acme

Answer: acme

Explanation: 67 a@feffze o- 'fSfar oiF Miferd FNEIET TE@TS FAE (T | 9317
option-BTETT (T <:

acme T, 551, Safea &S g

abattoir - FHRATA, TIILZA

admonish - 37 S¢T/fSTTR FaT

abdicate 5T FT, (G (73T (A0 1w, AEPTF, SRR 2ohf)

STOdR, W3F Tad acme.

Question 66: Anger may be compared fire.
A.into

B. within

C. against

D.to

Answer: to

Explanation: SUGGAT FAT 972 FFICT discuss-I7 5T (FIE1 preposition T9%e 27 7| discuss = to
talk about

Question 67: Choose the correct sentence:
A. None of the above

B. He discussed about the mater.

C. He discussed on the matter.

D. He discussed the matter.

Answer: He discussed the matter.
Explanation: Compare with somebody / Compare to something (@1 F4T)

SIS A JET QeTA] FAC© compare to A3 932 TSI fHAIF AT @I FA® compare with T6fTe
FoJm|




Question 68: Identify the correctly spelt word.
A. Horroscope

B. Embarass

C. Occassion

D. Pneumonia

Answer: Pneumonia

Explanation: "S53 I
Horoscope - 913 6&

Pneumonia - T¥HE TREG® (F15T
Occasion - FEAV/EG S oI
Embarrass - 3193 SIS TS (Hel"

Question 69: Desdemona is a character in the following Shakespearean play :
A. Macbeth

B. King Lear

C. Hamlet

D. Othello

Answer: Othello

Explanation: Desdemona is a character in William Shakespeare's play Othello

Question 70: Meteorology is related to -
A. concrete slabs

B. motor vehicles

C. motor neurone disease

D. weather forecasting

Answer: weather forecasting

Explanation: Meteorology (noun)
SRS TE, AR - the study of the atmosphere, atmospheric phenomena and
atmospheric effects on our weather.

Question 71: x2y + xy2 932 X2 + xy FEEF TS 932 LS 97 395 F©7?
A. x2y2(x +y)
B. xy(x2 + y2)



C. xy2(x2 +y)
D. x2y(x + y)2

Answer: x2y(x + y)2

Explanation: S T = x?y + xy? = xy (x +y)

T I = X2 + xy = x(x+y)

AT, 93 AFTEET ALY = xy (X + y) IR STHALS = X (X +y)

SodR FMNEET 1.8 93% TS 97 ST = Xy (X +Y) . X (X +Y) = X3y (X + y)?

Question 72: AU x:y=2:3 9Ry:z=5:737,0@x:y:z="?
A.6:9:14

B.3:5:7

C.2:5:7

D.10:15: 21

Answer: 10:15: 21
Explanation: 9T, x:y = 2:3 = 10:15 [S&F & ¢ T 39 FF M2]

AR y:iz =5:7 = 15:21 [OOT THF © TE] 89 FE@ T3]
SJodR, x:y: z=10:15:21

Question 73: SRRY MREF (F0 10% FAMIH 7 PO (o 10% IS 2 OFF FOpP B
22

A.0

B. 0.1

C.0.05

D. 0.01

Answer: 0.01

Explanation: &fd, 312w NREF (Fe« 100 G137

10% FAE ©1F (Iod 2E = (100-10) = 90 CIFT

HETE, 92 (o 10% IGIE (Fod 2(F = (90+90 97 10%) = (90 + 9) = 99 I
O Hfe T =100 - 99 = 1 5FT AT 1%

Question 74: (x + 5)2 = x2 + bx + ¢ TNFIET b 8 ¢ 9T NF Fo I TNFIIG IA©W TE?
A. Mon Mar 10 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

B. Wed Oct 15 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

C.15,25

D. Sat Oct 25 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)



Answer: Sat Oct 25 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: 93T, (x + 5> = x>+ bx + C
qILx2+2x5+52=x2+bx+c

L x2+10x+25=x2+bx +cC

TOF T THFIEF 25T 2@ T3, b = 10, ¢ = 25

Question 75: fAGT (FAM TRA@NT TRNFII?
A. xly =yl2

B.x2+y=1

C.x=1ly

D.xly=1/2

Answer: x/y = 1/2

Explanation: x/y = 1/2

q,2x=y

A,y =2x ATy = mx 5 AqF|
(ST TN SFTAHPHA y = mx

Question 76: p+q=5 39 p-q=3 ([T p2 + q2 AT Aq F©?
A. 8
B. 34
C.19
D. 17

Answer: 17

Explanation: (W8I X, p + q = 5; p-q=3
Ad, p+g=5

a1, (p+q)? = (5)2 [SOF THF Isf FF N3]
q,p*+2pq+221+g2=q=25...... (i)
AR, p-q=3 AT, (p-q)? = (3)* [C&X = 35 I N3]
N, p2- 2pq + g2 2 2= 9.. (ii)

(i) 8 (ii) T2 STRIFFT F/IST FEF M3,

p*+2pq + g* =25

P>-2pq+q*=9

2p?+2q? = 34

T, 2(p? +q?) = 34

T, p*+g* =17



Question 77: If% log(alb) + log(b/a) = log(a + b) 2F, ©&-
A.a2-b2=1

B.a-b=1

C.a=b

D.a+b=1

Answer:a+b =1

Explanation: log(a/b) + log(b/a) = log(a+b)
91, log {(a/b) (b/a)} = log (a + b)

97, log(1) = log (a+b)

47, a+b=1

Question 78: 2x + 7 = 4x + 2 (@ x A9 V[« $07?
A. 2

B.6
C. 4
D.3
Answer: 3

Explanation: 2x7 = 4x*2
Y, 27 = 222

qU, x+7= 2x+4

T, x=3

Question 79: 13, -1, V3, ......... HF6FT 7T 1 FO7?
A. -3

B.9

C.-93

D. 33

Answer: 33
Explanation: 931, S¥ 5% a= 1/v/3 STTE See = -1/(1/43) = -V3

SfodR, HTAIGA ¥ o0 = ar™" = (1/V3) (-V3)* = (1/V3). 3. V3. 3 = 33

Question 80: I 1 + tan20 =4 13920 <90° 3,0 = ?
A. 30°



B. 45°
C.0°
D. 60°

Answer: 60°

Explanation: 33T, 1 + tan®a =4
91, tan?a = 4-1

97, tan?a =3

3], tana = V3

91, tana = tan 60°

g1, a=60°

Question 81: :]?F%W‘TWGW (1T S35 FE| FJEIIMT12 cm WW@WW?
A. 4m

B. 3m

C.m

D. 2m

Answer: 21

Explanation: a3T@&, F™1E = 12/2 = 6cm
(30T ST (@19 0 = 60° = 17/3

933 OB (s s=7?

AN S, s = r0 =6 x /3 = 21

Question 82: 136 AQET TRSEH Seee 1 : 212 : 3 (T 97 R (F1AHT A Fo?
A. 30°
B. 60°
C. 80°
D. 90°

Answer: 90°

Explanation: a3, (1)2 + (212)? = (3)? [Sf? + %2 = SAfewor]
q,1+4.2=9

q,1+8=9

q,9=9

TodRk, fAesit 9% TN fAge 9% 97 26N (17 90°

Question 83: 29 (¥ 38 T AT @ (F (FIE] PO 3= (F® [T (I GNTF T8I FEF]



F9?

A. Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
B. Fri Jan 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
C. Thu Jul 10 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)
D. Mon Mar 10 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Mon Mar 10 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: 29 x(® 38 g 512257 = 106
29 (N 38 =g CNfers 1227 = 3% (29, 31, 37)
CNfer ST2205T T8I NEIFAT = (6 (Neid [AT / (316 52357 = 3/10

Question 84: 0, 1, 2, 3, 4 SRFT T FOIFT =76 M T A T FAT INE?
A. 144

B. 120

C.24

D. 96

Answer: 96

Explanation: 937, 0, 1, 2, 3, 45 & R@F AT (M3 A®| AwAF, 5 IA@FT B AT =5!=5x4
x3x2x1=120f%

0 (= ST (Y 1 45 FTaT sIfd® 72207 = 41 = 24 6 (TS Sfsyef 7

STOAR, 5 SR Aol ST ST9F FATINE = 120 - 24 = 96 6

Question 85: A={x € N:x2-5x-14=0}FTA="?
A. {6, 1}

B.{-2,7}

C.{2, 7}

D. {7}

Answer: {7}

Explanation: a1, x>-5x-14=0
T, x2-7x+2x-14-0

91, x(x-7)+2(x-7)=0

91, (x-7) (x+2)=0

2, x-7=0

S x=7

YT, x+2=0

Jex=-2



Question 86: fEa (FTHG ST Fa?
APocT
B. PV =K
C.Vocn
D.VoT

Answer:V o< T

Explanation: fSS8Ta! 51 STTE SIRS@A (V) S SPeard (T) S aF(6 @ ANIeF FE
BIE(CT S[a e SifRfbw | S@aft 2 VT, Saft e 3@: 537 5101 (@19 SHIeTE oTesal ARG e
FIGE NS BITHATE N AISEH 1 A6 |

Question 87: (NSI FTARG (NaCl) (FNEIF ST SIFT?
A. STREIT TIPS

B. (M2-(3laP TAPPI

C. RET-TAPTRIT

D. o6 (F4F FFIProd

Answer: oS (P TAPIPIOF

Explanation: (TSI FERS (NaCl) FEF SO 936 FaPhed (Feid Jfeft (@FTery aFh
A AT AR TG bfo S Afefor 757 936 F@ FFL I | ANS CNEIR (FTRRGH
HoF TOOT (FFaP FAFIFoF (FT 507 FE|

Question 88: A (FT6 MRN(F 7?2
A. SO3

B. N205

C. HNO3

D.NO

Answer: NO

Explanation: TS T35 (W(F S15Te ¥ ARAN 73 1 TS 737 71 S SR 775
(F TR AT [FIE (STl 7P T (TFSIF 7F 1 NO, SO:, CO.CO Fonfv e 73F 972
HNO3, N20, SO, Zeffw (s 3¢ R f=fee |

(O FTAT ST, SRECT (R0 @ I, e, M6 20 S v I TEFSIF Fio S
FE T T 39 ¢

Question 89: HPLC a7 (& $1?
A. High pressure liquid chromatography



B. High power liquid chromatography
C. High plant liquid chromatography
D. High performance liquid chromatography

Answer: High performance liquid chromatography

Explanation: SSNE 1¥A7 g FIFANEE (@1 N=ed et ST AT Fa@ 938 {0
$400 HPLC 19319 $41331 a9 ‘jfﬁq"ﬁr High performance liquid chromatography|

Question 90: G (@& FARNF SMWET T4 FIETHT?
A. NaNO3

B. Na2CO3

C. Fe203

D. SiO2

Answer: SiO2

Explanation: SfeE armafas am fiferds OR I3RS (Si0:)|

SR ffog F71 @Il

SR SR ST FICTN ST (Si02) | (T A G M7 (€2 %), ST (9o0%), (TR
THRG (%), SSTEANT (%), (&7 a1 (5%) ¥F |

(ST FTAT ST, EFEAE 1376 [§fod device e (ofF 27 SIfe@a 57 @ | I$NE FFEISHIE T
65 TTIRIF FAT 2T ©F NN JTe] T T (SiO.) | FT6 Mofa F&TH FIGIATT JCEAT JNe | A JNferd T
R EGIBIGEa]

Question 91: YA (A (SfF® (F1H W@ NHET FIze 27?2
A. Na20

B. CuO

C. Al203

D. ZnO

Answer: ZnO

Explanation: STAfe 9359 AFHFE@H (T I FIE AR 59 3T Ffoda 8 Ifo@s afy (3@
FHT M| T (P (0 ZnO TIET MBS Faze 2T AR AT FfoFd 7 (V@ 79 I57
FE| AF AT SN2 NAH IR PACET @ AT AP 6] N9 AIFe O

Question 92: AT[FF (MRFTF (FICIHCEIF FAT -
A.88f%
B.8sx fo
C.8v o



D. sy fo
Answer: 8y f5

Explanation: SAIME 236 (FTE (FIEETH F2207 8 JT 0 (STST, 97 N&T 88 o 3T 33 (FOE
SAGIET (STST AT M (TH-(TIENET I T3 (FIENETH g6 (X) 93 (Y) A Af&@ee | (@3, XX
(NF 38 X = (RET | (@S] IR A T el (1 I FEAFS (FTE (IR 72247 0fB | 20278
YT 2 B, fETe 2oft FE @ EEE O |

Question 93: S AW TFET, AT 3 HRASTSIT AWH INeMe?
A.8:9:R

B.8:3:%
C.8:2:9
D.8:5%:%
Answer: 8 :5:%

Explanation: 2175 SR ST S AT AT, AT 3 (TR 97 AN INFHE- 8: 5: S|

(S AT BT, (MRF IS fFEIH @ Ty *FAT WIS 8-4 S| TFAT 8 AT FIA AT
1S ST 8 HFENFENT | (FR TSI AW FEAHF ATH S ST > fFEHENT | FEET I A
@S CsHi206 AAS C:H:0=1:2:1

Question 94: T[T TEH AEF F7 FIMG?
A. =6
B. =76f6

C:W
D. 5@

Answer: 5136

Explanation: 7o a1t F1 TOTo3NE J4f6 I SF@ 'ABO' 1S S5 I7 37| 93 TG FT
ST NFT TG 57 8 TFE, TT: A, B, AB, O (S F1T SIE '0' G FT NESAI wreT 932 'AB'
TR S S2e]|

Question 95: @ TFNARTF T247 F672
A. 88

B. vy

C. 9%

D. 9o

Answer: ©9©



Explanation: 33 - Scffas
36 - e

38 - FA

44 - I

Question 96: STGTORIGH SIS 7T I@F A 12
A. IS 3REE

B. SHEGRGE

C. SCIRGE

D. B IRGE

Answer: SNEIRGE

Explanation: STSOTRIGH she ST - BIIRGE
Y ST - 3% o

I o] foefF - TRECIE

THBT AT - ARG

Question 97: (Bfeife & (¥ &7 T9z0 23 -
A. T A

B. SIR® I3

C. e ©1FE6

D. (358 s@e

Answer: (358 3T®

Explanation: (&3 93% (Glefe™ A& REE (A58 8@e J1 (F91F a5 1970 27|

Question 98: IS fFWIH T (F?
A. T FF

B. 3% ¥

C. AT3IE (A

D. 9%« © ffTo@azs

Answer: 9% o FIS@a2F

Explanation: $b ¢ ST IS8T 16 2F TN TR@ G AT FEF A% f6fF a3 3 anfaga
FE |

SOOI BT 4B B FTO@ALF AT TRIFCH NIFT FEA | (T fSfel T SoB J14T
R T TGS FEF 9T (7@ T FOSE ST A7 | fSfe a7 a7 (v Animalcule | 93



Animalcule TF38T® BIFBRITAHIT AN AHATFTT FE| ©R A5 & FTOTA2FE
SIS S Tl 27 |

Question 99: e FG -

A. SRS
B. S O@RE R T
C. (SRS arf
D. TTATRESIT s

Answer: TRGEST arf
Explanation: (ISR, STyBA(ersy, (1R, ST, A, 1, TRebd, Foa S, afbars

RSN TRATGES T STAIT SRR | (S FTT I, (F FFe Tar (GAFEa T I ST AP 27
ST SATRFR 7 Tl 77| ARSI T o, ©FeT, IAINT a2 o TFERR (© N |

Question 100: fTIFTHNST TIEE @ SHHG 24 -
A. SIfHE

B. FIXF-CIROHRG

C. IREE

D. RRETE

Answer: IRETET

Explanation: RrfEmmad SIe® @ sHSfb 26 TRETSE | R@RITE WMo N[ I 97, TFa
A2 RS TS ST T (ofF | KT F47 23 *JRSN© T9 T/ A2 O1F »0% TR IO T

Question 101: GPU-17 (& 1?
A. Graph Processing Unit

B. Graphic Processing Unit

C. Geographical Processing Unit
D. Graphics Processing Unit

Answer: Graphics Processing Unit

Explanation: GPU a9 T‘I%IT‘W Graphics Processing Unit|

FFIGEIF 3@ high quality =f video, games 2@51fi SIS =BSIE (@19 J1&T RIGT (WA Sels GPU
F3RE FA1 271 GPU 9F ¥@F Hardware a3% FFIG6IE I8 ©IETT GPU F1331F F471 2(F FIO6IET
visual output display @612 ™1 43¢ High quality =15 &

Question 102: fEF (FTE6 ALU-2F SISEE ATTH Tely 1970 27?2



A. Output Unit
B. ROM

C. Flags

D. Register

Answer: Register
Explanation: ALU (Arithmetic-logic Unit) T CPU aF a1 ofb IR0 W& Srefvo s | A1 36 o

(T control Unit 93 Register Unit] ALU 37 B I(FIFACR SHF IIFT G161 RIFT 91} 97
SNTHIG S FF ey 1970 27 Register Unit|

Question 103: DBMS-a7 (& $1?

A. Data Backup Management System
B. Database Management Service

C. Data of Binary Management System
D. Database Management System

Answer: Database Management System

Explanation: DBMS (Database Management System) 9% ¥(79 Application Software |
Application Software Fe(® AT YA FECOIF (T 3T I A7 TIIFFROA (@1 [{FCH
FS THE F2FO] FE | DBMS SIHRTS I I8 (@4, g afodm™ a3z A% arrete o3

A FIFICEF D FI2E I 2F A |

Question 104: 2 fFEERE T address FAF &5 FOI6 address TR TIFIF?
A. 10
B. 14
C.12
D. 11

Answer: 11

Explanation: Address Line a7 W71 'N' (T
N = log: (CSKNTI%’ ﬁﬁﬂ

= log: (X fFTA120)

= log: (2x1024) [: > fFEMEREE = So38 5]
=log: (2048)

=log. 2"

N=11

Question 105: (2FA)16 9% RHTGHEE RATGE TS FNET FPe:



A. (762)8

B. (1482)8

C. (228)8

D. (1372)8
Answer: (1372)8

Explanation: (ZHTGHET: 2 F A
IRAMF: 0010 1111 1010

001 011 111 010

JeT1 3 7 2

Question 106: TGS SEEE THFIS (F1H Y@ FENEH T5720 27?2
A. SEGFI 6% I1Re

B. 216fo% vize

C. T (TN

D. RAM

Answer: RAM

Explanation: 9GS SEEEE I BIfFa1 e RETE 1970 I TREFE A | MREPEEFNE
98 HTHT FSTH RAM AT | MRHTHCETNT 9316 N 67 FESoE REE F16 & (FA 9576
IC 932 97 (SOE JE, GIENTH, 36 (Nb A3 MSHIB (NG AT |

Question 107: {6 (FH Spyware 95 SuRI?
A. Kasparasky

B. Avast

C. Norton

D. Key loggers

Answer: Key loggers

Explanation: Spyware 5 IGGIET AFHAET Ffodd (SNATH I TR 50 [T AT AEI 0
fESRETE RIS AF1S FGORER IFOIT (7 25 §fF Fa0© TE| Key loggers, Adware, Rootkit,
web beacons FIS Spyware A7 SuRF«| M@ Avast, Norton, Kasparasky - Antivirus
Software A& *fHfbw|

Question 108: IPv4-a f96a (F96 Google DNS Server a5 IP Adders?
A.8.8.7.6
B. 8.7.8.6
C.8.8.8.6



D. 8.8.8.8
Answer: 8.8.8.8

Explanation: IP-v4 ST S5 IR AT SFICTE T (N6 51316 A H6 2T TS| FIE2
STfef ST ST &3 0 T TS | 718 8.8.8.8 (8 bits FF)

Question 109: FTFSTET TRNF TS F1?

A. T3 31578 B1f%ed (53 [F© AT (7337

B. ST31% SI5T® F1i%a (ABSANF RF1F a3l (33T

C. T3 (@63 TF 1% aafm+6 T4

D. I5T® AR ARG (63 TF 5f%d ST a3 formaer F4m

Answer: 3516 A3 IR5fG (@H3ISE Fiffes AR a3 fFmaer Fam|

Explanation: NXTETe (F1 FoPd (AT I TR AN (AF FPIG6E NCEHE TH FIE o)
TRFSI (Firewall) TIZE FAT TJ| AT N (FTF FEEOHE PICHE AsTe 93 IR5fE @H3TF
B A a3 39 771 271 THAFSIE HZRRESIE 4e Heowa 7S RME 318 36|

Question 110: 3BEEGT AT O AWH-TAET S ST TI50 (BT I17?
A HTTP

B. FTP

C.DNS

D. TCP/IP

Answer: TCP/IP

Explanation: 351G AEAE ©XF AMH-TTIE Sels SHEF 5956 AG1F 2 TCP/IP OS|
layers-a IP a5 9319 ek Network layer-a 432 TCP a9 99319 8«1k Transport layer-a1 (il 7T
®IT, TCP a3 99&%1 Transmission Control Protocol 432 IP a8 59&T Internet Protocol.

Question 111: 936 FFISEF @HSIME 976 LAN-1F 91T fEORNE 956 WAN-IF ST &
FE 99 [GORY (F1H5?

A TR

B. @ ¥

C.d&

D. ASEEH

Answer: FIG6F
Explanation: F1SC 37552 F(G© TROCTSNT F TN IA(HF FHOT=TT ATl 12 FG6 (T]T



9T FIT 2T FIOG FPOISGIE Physical Server T Hard Drive 97 SIf3w% (AT W19 Ife01 (A
Online Ownership 3T TS ©TTT (3T 2|

Question 112: FSHMPHFSIR TETATNT ©F (FFA THIATE 3 (FEG FTE 7T NG FATH ey
FLR@E IR FAF LA ST Fo01 77?2

A. Sniffing

B. Spamming

C. Ransom ware

D. Phishing

Answer: Phishing

Explanation: SIGEIF A0 89@F (@63 fTORT I aF% LAN 97 aF18F GRS 7 (Gh1
TFESENE FIEE F7 GHES T AT FE TRSNF 456 WAN 97 S I FA0 |

Question 113: fEfF3 3T (F@ FFITHIF-aF F151 (F1A(H?
A. OY7 TRTFHq

B. 307 faGer

C. AT @

PR GERERIGI

Answer: STET SISE

Explanation: ({35 31 (SfI6 #1064 [AR1fHe ©%7, 2THH (@ 8 TMTSINES M© M@ o §fdd
TEE@ B (Phishing) T

(S T ST, (AR, (BfA@ 1, B0 o6 Ao (B 1 AL [IRF FE iz I f6fiR
(vishing) 9T voice phishing 17 21

Question 114: AT @E6 NSt GG A5 (73672
A. XOR

B. AND

C.OR

D. NOR

Answer: NOR

Explanation: f6fFSST (F@ O T, 20701 G, @B "A@Hel, TS BT 251 THeT
FAFTG ASFT FPASLIET N T N |

Question 115: 96T (@G FTOT FEEH: a7 @RS 79?



A. On-demand self service

B. Broad network access

C. Limited customization

D. Physical ownership of servers

Answer: Physical ownership of servers

Explanation: (¥ (SIGE SIS (NfAF (55572 (AND, OR, NOT) (@@ (516 432 (A@ 1 N6 8IS
P T 1@ oA (576 qE| NOR a3 NAND (STo@ SIS (578 F1 27|

Question 116: (FF G T ANE? B, 8, 3, S, S, b8,
A. S/
B. v/8
C. /e
D. Se

Answer: MY

Explanation: 3fSf6 2@ 2 fo@ ©15T FAT BT T7T6! TR NS T | W64F, /8 (F 3 g o1
FIET S/ EF

Question 117: FEF e TreT f[&AfF 27 S 5| T1F Mol Fo INF f&4fF 272
A. 8 TTI

B. 8 ¥

C. v =T

D. v8 9397

Answer: v8 TIH|

Explanation: s fTeT 3% SIS 20, 51 O] 2 S X 8 = 8 I
Question 118: N F7 T 6 Of& Fof | ©F CTFF S (o-

A. oY

B. faramr

C. M sty

D. wifaf*ee

Answer: JfAce

Explanation: % 7fG Sf& Wy 278 (T Sfeba Sove] foefiae T 317 1|



Question 119: (@& AN @ CIfdte II6R© TG SATTT ST FE?
A. 9

B. v

C. .99

D. 9%

Answer: .9©)

Explanation: .@% 2 Tf& ST JT SA1a [P @ty FIEE (R0 |

Question 120: T3 IS Jb (% So BIFIT fAfF 2T, O Yo BIFT @i T Jb 1 FI F(© MHE?

A v 3B
B.9%b
C.5 Jb
D. b 36

Answer: b b

Explanation: s 3G So BIF, Yo BIFF b Fb 4G =T F1 IF|

Question 121: (FTAMG STANTA AT ATHE?
A.4.PNG
B.3.PNG
C.2.PNG
D. 1.PNG

Answer: 1.PNG

Explanation: The explanation requires visual analysis to determine which image represents a
balanced state. Since no descriptions or images are provided, the correct answer cannot be
identified. However, typically, a balanced state would involve symmetry, equal distribution of
weight, or a stable structure, depending on the context of the images.

Question 122: fAF{@fAe AT EHT T T2457F ME@F WM FO @2 Y, X, 8, 9, O, ?
A. \8
B. S¢
C.\ v
D. Y

Answer: Sb



Explanation: 66 TANF T FAET Y, 3, 9, 8 (J5T FAT I, b + 8 = b

Question 123: g o 236 F977E afeFhe IM@F B1R© =y SemI | (7R Sfephete a=aio
Fo? -> 5.PNG
AN

B.w
C.3
D. 8
Answer: 8

Explanation: I'm unable to provide an explanation without visual access to the image.

Question 124: (@& TS T FISH?
A. ¢o O

B. ¢9 &«

C. 09 &9

D. 09 &9 96 Jfed 91 TEA®

Answer: 09 39 T3 FIfed FaT T@®

Explanation: The correct answer is ¢9 S« because, as of the latest data, 57 women have been
awarded the Nobel Prize across various categories.

Question 125: IMEx G =83F BRI Xx5=?
A. S0

B. o2

C. OS¢

D. SSo

Answer: SSo

Explanation: The relationship between the letters and numbers is such that the product of the
numerical values assigned to the letters equals 42 for & x G, and similarly, J x G equals 92.

Question 126: ROSE a7 JI9¥ afefIT @FEG 2@?
A. (FH62 J7

B. 6.PNG

C.7.PNG



D. 8.PNG
Answer: 8.PNG

Explanation: ROSE 45 9I¥a1¥ afefdd 2@ Ortr AR Jfenfte, I 7.PNG aF J@T (WTE|

Question 127: 9.PNG
A. 10.PNG
B. 13.PNG
C.12.PNG
D. 11.PNG

Answer: 11.PNG

Explanation: | apologize, but without the content of the images or a description of the question
and answer options, I'm unable to provide an explanation. If you can describe the question and
the options, I'd be happy to help explain why the correct option is right.

Question 128: 9%f6 (B S/¢ (S 5T X0 Fb| 972 OO (FA6 © (TS F© Jb 5F?

A. 500 BB

B. SSOIEE
C. (FTEBE 9%

D. woo 7:;_:\3

Answer: woo b

Explanation: (B(% 5/¢ (TS X0 Fb (ST, S (T M X0 X ¢ = Soo Fb| JOAR, © (NHES I
00 x © = woo | NP TF S00 Fb 3T Ty, woo Hb © I ©T5T FAT =, I | AFSIE S
TS 20 BB /T FE, © (TS Soo Fb (AT© I I A 2|

Question 129: IMWF J&FF S80 I ©IF SCH BT FelT 27—
A. T afeTat

B. sfeert

C. {1 gel

D. sIfe ¥ afsermet

Answer: 9o ¥ I CRIRIG

Explanation:



Question 130: RESENT, RESERVE 93 S 31?2
A. 933 o

B. (1162 9F

C. 1 9% o1 fo o

D. f3=dte &%t arf

Answer: fI78te &3 a1
Explanation: RESENT =¥ $i7 fFafe

RESERVE a1¥ W:af%e
©12, SIAT Fee M %1 9fod o1 9% 3- fou|

Question 131: ©1F© RIS AN B TJ—
A. 5259 ST
B. 5939 I
C. 5999 AT
D. 5983 AT

Answer: Y28 NIT

Explanation: $58% W74 ©1F® =G AT (Quit India Movement, 1942) ST TRTST T NHF
ST Tt RIS MATSER AR SFTT T AT F6:5FS ITF S| $583 NEH b A6

e SEe F2EN FRITGT AR {258 SRS =G ACETEET FIF M 27 932 T799% Joyd N8

TFEFONT AR T NI TR (TOF ACIEAES OIF (R8T 27 |

Question 132: T4AT RO N FRAG e TH—

A. 598 NI
B. So¢o T
C. 52@8 A
D. SR ST

Answer: S>¢R ST

Explanation: $>@ SETH ©) STIE (TBE- ©o SIN) GIFT AT TREAS AT 3[R st

TS TS AT AW A SN FoPifor [fen Tsiaod uETd T N S8 (ST
AR ANRAIF FE 80 WA 'NIGAT (FAIT AZORT AW A{TW/FRG' s1fde 231

Question 133: IRATWCTT TTSIT RIGH AT AR FEF (F7?

A. SETNET
B. =R
C.Siw @@



D. gfs
Answer: F3fe

Explanation: SIaSTSS! IRATICTE SRITHEH 93 () Fe[oan ST, N2 TBAS T SIS
AFI, I 3 B3 FAEA AT TRNT ARAFNA SIS TAN ANENA T 3 T (T[T FIE@F 93 2
AT TINF Yo oeda @ =@ 1 TR HLEETT e (@f¥e T wo g My @5F
ST Tefy ST S ST TS| TN (FHFH T ¢ T A0S AT T34 (S AN |

Question 134: PfSRF "=F-w%T 577, CT¥ YOI TN MR AFSIF (I FEA—
A. ¢ (BFTME SDLY

B. s A6 SHLY

C. 34 A6 SHLY

D. 39 ME SdLY

Answer: 3© JT6 4> LY

Explanation: =fF3fel 3@ ey § CTA (3 J@ 3TF ey ifod e 5/ T J[Oga
T S>GY HEH €-b GFINT TFINF AR (G GNRETY AAF TSI SO [SETET
TSR SCRE PORINF =T w] FHYMS (77 FEN | ST 57 - 5T G2 J5T & I IRAE
TOTE CTRT FH A ©1F HOPEFE 932 7 IR (SIENTTF Frad P AEEA FE SN & 757
IIF ST FAMR| " =F GHF 1 Sfod Jfea Fow 71 27| A6 —FoT MiTe@s ufee
TSATFTO R ST Qefel 47 23|

Question 135: & MFIIT SIS AT AT ASOTHIAT ST T —
A. CTH ST T

B. S =if™

C. SIreTS T2 ATl

D. T 3

Answer: TI%T 3%

Explanation: GIFTH GISFRAR S¢o FHF J1® TEAHAF IT0w SHIHAETR JIES] T 33,
(STTETETSIEE T O, BIPTH OIS el IR SN | BT 528> NETH X I I JH GIF1F BFfTE
(F % 9IS (S (@S SEE 97 SCHTN 3 FEN (T Woo T ST 77l FE | TS TSIF
SETRS T & NEI NS AT v o7 a7 76 R 7o 515 F7 271 7395® wefod 8o
TaTAE F60 ToTihe 16w 2 AT AR AT AT ST 972 TR TP 1o 2o

TPTSY 35 |

Question 136: FSTe@ ATZSAT IRAT FIMG NAILF (F1 SHem I TI@?
A S



1

Answer: e[ - 9

Explanation: SISTea! IR ST 4 ST 0 T ST, SSSES BSRT KA
ST G X St RIT AT, 8 e “RATFH 8(5) 4 SO TATS, 8(3) I STeIF
TSTF], 8(\0) 4 TTIT TelF AR 8 (F)-(© Sod PoF IePhe T Iffe TA@ AT (@R INqrem
TS @ IS @A™

Question 137: 2S5 9 MET ST RTNEFT (@1 SHOIE =2
A. 50X BB

B. STI ©HiNeT

C. TS oHfT

D. 99 GBI

Answer: T3 ©H59

Explanation: STrsseat IRAT SATN@T (NG 9f S% T I@| 72T B 93 MbT fenf~e
ST T 539 NETH 9% AT, GIFTH (@ FINE Sifed o1 T/ (T4 o TR (W8T
PRSI TR 1 9 SHOE RTNEF o (R) T Aermd Il T FAT T

Question 138: IRACTH SRIINT AT "6 9F (FFE" R STen—
A. (1T (P16

B. && (316

C. |} @b

D. S 316

Answer: S (16
Explanation: SSRGS IRAGT SIIHET So'b T e A4 7@ (&, AT @b 9376 @b 919

@G 22EF 932 2209 AINANF Tely SU@F AT AT ST FHSTTR S-S ST
BT NFT FHNOTT SEFTAT AfFEeT | ™

Question 139: IRATECT (6 FoI6 TPINH! ATFTAT 2T FAT TJ®R?
A (=) 6
B. a (7r®) f6
C.> @)
D. v (31%) f&



Answer: v (35) f&

Explanation: IRTNCT TIHFOE 95 (3@ GG v 6 THIET " {F A{Fga (@33 7@ =

(S TN ST SHIE AP AFFTNT 9% TNEF (TNMOoF® 3G AIE (AT (TS o3Iy
NFIIT ST S TP AFFTA] (@S T VDCE-S» Yo ST (FI@ | FRTECT SHIGT FHFT
AIFGAT (TSI T IHAFHI A |

Question 140: IRACTT FAG (STF T "I IS AM2?
A.8 (5F) 6
B.a (@) fo
C.v (=)o
D. ¢ (*1f5) &

Answer: ¢ (75) f6

Explanation: Sa3a IRTCTE (16 ¢ 6 (ST S1af%e | I3z Yo7, NOHIAT, INEERTG, THIRT 3
IASAT

SRR 2T ICNTHE SAFATS! AP 50 B 3 Il I THT, G 8 THa Ana@
SRMRFE FEIT ITFE T FS | (TG AT So IOV ISR | THIIET TREATTT ST
AT bosq FSAFEREIT A b0.59% | FA6 & FETTIT D9 Ao IS FoF 7 Mo
= RO TPl e F@1 afb {077 TIEE I MAETS I 933 IRACT JHN RO 7w ©F

RS TR T 2T AT TN |

Question 141: ¥ (Y@ THT GIFT T2 (FT (NSHH OGS [=eT?
A. ¢ (1T5) 999

B. © (foe) 597

C. 8 (5@) 97

D.} (R®) 957

Answer: X (R) 995

Explanation: SR [[&J(@d S GI1PT 37 (TEE A fi2eT |

W CTBA - (R A3 T, BT 8 HFAwIF (@elig 917 e

© T (T - 2398, FCTNE18, 93 FRET (@elig o [

8 1 (7o - TG (ST @081 Ao

@ T OTBH - FEH (S 9T R0 99 268 FINAPRET NToT6! P

Question 142: ST IRAT (F TSI (TN R AATSIT F© OII Te[eI0e FAT A2
A. ¢ 316, 2033
B. © 6, 2033
C. 8 6, 2033



D. 3 6, 2033
Answer: mﬁ, 03

Explanation: Si¥ IRAT(E ST G (XN F@ NFHIETW TSI TR SF F@E- 2 TG, 2033
AT AT 2030 T So A6 TRE6 9F T ‘ST IRATE IRTWCTT ST ST FHATF Tely TTAT
T fofre T o I S FERE | IRTNECTT JEI@F THT S 9S S oo e a3 57
FIREAT IS TN G RO7E 5921 T3 ®|

Question 143: IR TTIFTET T3 FORHTT FE Sfdo TI?
A. b afSe sHar
B. 9 affi e v
C. » affe s>
D. v afe voa3

Answer: b a5 SHa%

Explanation: 595 3@ T1Fla 918 5T afeF 17 v T v AfET IRATWCT TIF1S FH
IR sIfd 27| O AfeT2F v AT IR TTFIH T3 FHAT WIS RENT T FA7 2|

Question 144: e-TIN’ T $1 37 $© N[T?
A. 3050 ST
B. 2058 AT
C. 205¢ AT
D. 059 NI

Answer: 2059 N

Explanation: Y05 ST SR 2-fCaRas sfee 51 S aqfTelF| 9 [T (F (F6 3% T N
07 oA fefte M | AATANET SFITREG G [#F FE OS2 [SA0 2 «s oy
ARCATB @ TIF (-HARad) T2 FAT IF| IRIGT3 vo© TIEF F FES 4 T [AES SEr
7|

Question 145: 6 S N T2 AFSE@H ARAB IS FHT 7J?
A. 2055 NI
B. 2048 N[
C. 2059 N[
D. 3053 N7

Answer: 05 N[



Explanation: M A1 1 SRCMES T AF6 AN TNAf0F FHFA| A ACENE 2083 T
SRS FT T NS ASETE A3, 2051

Question 146: (WCTH (F1 (ST TS CNAR (F°4 ATFe?
A. BB

B. (%At

C. Fafwht

D. NIRRT

Answer: SIAANT

Explanation: I$NE (W0TH NAGEE I& (AR (F4- foF1 O [NGS (Jwasa, siam) | 9@
(CTR S CTAS I3 b1 27 FaRA (S|

Question 147: IRATECT I STEFAT (T4 (FIT HIFG?
A. TR

B. farem

C. STaa

D. 5BaI

Answer: GBI

Explanation: IRETT I STEF (FCEUF T FREI SN %0 |

(S AT STET: IRACTT T SIEFAT 2AF6606 IRTATCTE FaTom, I TFSEE e Hifre, S
FHA- (FHeT 3 TACAT AT Tga IAFA (B, 1 RFB TEIN ATOIT F& A | aff TREFeT
fIamargan (BFRI -Bangladesh Forest Research Institute) MY At S¢¢ T TfFIET
@4 TIFTET 9F NPT I T NFIE I I 36506 AT AGOTABH S 7 JT $»9S NETF
SITO! TN 13 ST I AFRMIET AT IRATTT I SIE@FAT 36066 2T TN FAT 2|

Question 148: IRTMCIT N3 FS© STEINT (FINT AIF0?
A. sTod

B. Hfawsd

C. (oT

D. ¥IFAARET

Answer: SIIAANT

Explanation: IRAECTR S5 TS SIS FIHARER HI050 | R S5 SIEI 2B S6
(Razargans) a6 TSNS SIEFIT ASTH| S>18 S (M0 AT SIFF AfTFF, THTT 932
TS FAT T 93 ASTG AT FAT 2T $d¥8 ST ARG FAT TS AT ST fI@IST 972
AFFIEN fsTerd AHA® S5 B T (VF FAFIS AT I 92 ASVA(G | FFAARE IRATGT FA



ARy SIS SR IRATT NN ST 2AL66 06 A 36 |

Question 149: IRTCCIT T AT T (F1A6?
A. ZT

B. Stamnfe

C. @A

D. AFfeF ST
Answer: F13fSF ST

Explanation: IRTECTR T A 5250 Ao ST |

- S5 T EGE JfAE TR 52309 ST s Sfigs 231
- ST STSTeTo B 2T $»¢9 S|

- NPFOF SHCT T ST 2 |

- TRECT S S SHINEHEAs A1- AT s a, SEs|

Question 150: ST @ FIETAT F1?
A. 3110

B. GATSTIE

C. T3 styrst

D. HPhes ST
Answer: S1FfSF ST

Explanation: 3BT ST B A 4T FIGTHIT HFFoF S| TRAGCT 21Y 9f6 ST STy 28
TR FICTT ROTE FMoF ST 520 27| AP ST Sulel S JET BN | a=T613
APFOF ST 2, (AT, TG, IRENISHA, (6, FIL TRAARS 281" SIwEs Si5e
N | (ARG T TGT3 NP6 ST TR SHla3 TSI WEF FICI RE 5979 2F, OR
FICIIE ROTE "S1PTe STIT-2 SIEF SRR SSF | AT AP ST o1 AT N SoF FA©
RGl

Question 151: (FEG [REIF [T F1S 97?
A. SR TS

B. SR 51T

C. =g 57

D. RfTHa T @

Answer: I FoTa

Explanation: AIAGEE GNF AEFH T, BIFEE 6w F41, ST MBS 93 FO@
ST T© (NF T91 FH1F Wil [{E o1t [0 o [ersr siRes sepmsie 8 (e k8@




SR T | SR/ SR STSSITP T T3 Tare I T (ATt a1 73 (161

Question 152: MAAEF AFTe FL@T F© JET S 2I?
A. Sdvo AT
B. Y9 ST
C. SIS T
D. S ¢ S

Answer: Y2 ¢ ST

Explanation: "NEAEF Mo AT, S>> ¢ AHIET S’ TeTd ARTTe TmF AT foeifs
TS AT S B¢ SET 4 FEFT ST FH7 271

BT SR, R oNRe, (wa I FRAE, 5%y e, AfSe17F 3 AGTeTs an2e, iy A e
N3, MNFAANAF SR AL Fohe THIF TMRINEE Ao o AT R WFfere @@ 4
SR FEAIG, I, ARG 3 TH©F AAFIH (SR =IST STAT (0T TS |

Question 153: SRSy IHT' (FINT I 5e?
A. BTFT

B. 58I

C. Jfran

D. el

Answer: YT

Explanation: 5131 fafRmIe@a SIS JAeHIF AP S3HNR 2058 SIETF $9 (7 YT Szes]
SIES J1a1 8F FE | BF© FINCMS] INFE CTEIRT (FNSH AF6 IS ST6] @ FHFT 8 27|
205 ST ABICH FTTANAT (T AT FEF 3G TGN CTE (ANSH [Fod 936 I SRE (v |
SREEF 57F 2054 HEF b b O MG F907 27 SEA|

Question 154: FEFT AREOT AFET I G2
A. FF

B. 591

C. FOat

D. ®1%d

Answer: ©Fd

Explanation: STSET ARG (M6 35, 520D (F &, 105¢) IFTT IR SrET| S IREA@CT Snsyfer
SRR Saves Ja | {7 TeTIIE ST IR NYAF SIEA| S5 A IRAT FTFTH &TF
AFTT & 91T F@ | S [a 77 "G I 8¢ I=F MG INAN FEF | A6 ©F%Y it ReTF I57
SR 3 T30 e oGS IHET | Bid FIEH FHT fTITIG 7= VA A6 | VoA



ST T FEFO 202 TR HESHE, 7 8 P, amgeiis@it: smae, = T (svav), o
(5DL3), TIFT (52 Y3), (TF TR (SaYk) TexIw|

Question 155: AFSE IRAECT FIGEE TG (Sl (FTA62
A. AR

B. I

C. 58I

D. G

Answer: BTG

Explanation: SI¥e IRATCTE FIGEF IS (SeTl- BTG | (Seod S IS 3 R Es (Y
TS T G T ST NS IRAGCTT FIEE TG &AL AT (NGB |

Question 156: (19 A1F1($ 'Marine Protected Area (MPA)' (13T $91 3 R ?
A. TEIhe

B. R T%

C. SRITE 3 IRSAT

D. CTBAbe 978 AT JCTNCIT AFT

Answer: (ToN6 T2 A7 JACTNTIT AT

Explanation: Iy=Tat (REHe 8 fHRT518T) IR, 2053 AT {89 (5) 8 39 (3)-9F FHORCT A[E,
TN 3 ST AIIGH IV 8 SN 2033 (LMoo 3 97 SICTACTT do B TSI @ $,989
35 37 aMF1@ 'Marine Protected Area’ (MPA) (13T 34T 3| I3 afb (A0Td 5J=3 O fa8iy
fEe AGEES afF3m

G- (TG ST (] ST, IGTHSE|

Question 157: IEAM@CTT (BIITF AT oy FIG?
A>@ENT

B. So (w1) &

C.»x (IR 6

D. sS () fo

Answer: 5S (351F) &
Explanation: (FIET 361 (MCTF Mo, e, NTZSTT 8 N TOAATo] T (FIAT 57+f5 (ofF 2

©I@ I F (72 (MCTR (SIS [ (R Repier 2@ 7 Fe0R) 7o | 8 IRTECR S 7fre
2T A% 90 e} PGS (FHTTT FOTF (VF (ST T =7ef o1 Fho (TA=|



Question 158: g (ST SV IRTCTR (FTH (ST (JF T FE?
A. TS

B. ST

C. =353

D. NSRS

Answer: (o9

Explanation: 3284 SEGA S1A0 (ST S[R3, 23573, GieeIas 8 s (Sed o1F A&t
SIS STAFTT J1FS AT ST SR 8 EO AT FE Waael SITABIE T HTT FHFS
ST FE SR | BF 93 (] FROTE (NTSIAT8E (ST NFRwa I FIEF @11 JfA73 ey 8
T3S ©Iw 5 AT (0T ST PO Nzl FE Gtz

Question 159: IRTCCTA TS TSI TASAINT 3 T T (FIF NI YOS 2J?
A. S0 I (@ SY J, 303

B. 0 IR (A 3G T, 2033

C. 5S¢ TR (VTF 3 TR, 2033

D. S I (ATF 35 TA, 2033
Answer: S 3 (¥ 3D T, 103

Explanation: 38, $¢-35 &, 203 IO 7 L& TS 3 SRorer1| a6 (W0Ta 73 &G
RERDIERDEOECIT

o TP TATRATT S, E8,¢ 1, b5 e

* THFIFO (A6 TPRAT-50,01, 3B, DS T

* (NG U F-(MSIF FPRAT-5,¢0,89% Tl

Question 160: FHAMGF (FHa AT Tl 5@ Y030 N FAG© FFLNEH A FI?
A. Toig ST SnsIrs

B. 35795, fSETebF AT amears

C. IRATT FEEF ATSITE FF AT

D. F513%, fSETeibs SHISATE Ha Al

Answer: 353 fSENEGS ATITE HF AfRET
Explanation: STfsd a1 3573, O T F2NEF SrTedNPI® 2030 N TG NATT ‘I
T %o FOEPmies AT Tus 5 | (- 72 FoaTed Toa7 (N B [SErnns

AFFEST (R Fae @3 @@ SE, AeTRT 9F0T IRAGH Foafod A3 TRAGCT WiAT Mo
FAT AFG [T FoANMOP@ NAFRFSIE 3] T (3 IE |

Question 161: IRFT@T AUST 97 :



A.ILO

B. SAARC
C. BIMSTEC
D. NATO

Answer: NATO

Explanation: FRTA A5G ST0STs (77 7 | BT FA3TGT X1 SNGAI63 NSRS G2 FMH0 93
AEEFT 932 FSETT N 0SfE (weTa 9376 THfRe (@b

Question 162: %1 P17 FoI T3 T AefO© 27?
A. S
B. bdweR
C. Sy
D. S>wo

Answer: S»Wvo

Explanation: ¥ {51 353 BF 27~ S0 NI (SFIF®) | 3 (9515 F5IE S 27~
TFIT|
fag IEEEI'CFT TS 527519 Federation of International Football Association SfedT e @& 35 (3, S»o8

S| FIFA-F S0 58S- SR, SRS |
FIFA a5 =53 o foteal- Sefae|

Question 163: (F19 (W07 3w 9 AR?
A. STTeTETT

B. (SIS

C. v

D. (=77

Answer: (9T

Explanation: %fZer A& (7 (5T (T ST3u 94 (72| (N 93576 FTE(BS (771 (PIoa ST
©IF® A3 STa T F@®@ | I [{EEe: TSECRE (77 faI0Td IR0 oy I& A- RIS |
seefs e TR Se[uI=aE@ N Bera I (W@ SRz FE fems SEsE @3 S
FAI -G’ 2T TETRCE 2 oG 9@ T | G AT S1Ie 2SI 5T (o0 e
"SAIETEIT | SN Gipel SHBIH (77 (ST JR 3w I aA1- Puerto Cabello Port.

Question 164: (F1NT PfeTNF T F519 IIIfFe?
A. 351
B. s



C.»™
D. 9%

Answer: 9%

Explanation: 3521 f21Te 33 75781 TONH QAT 9@ AAF6 RARCTF(F ST TT 57T
JET TN FAT | 6N 3% (774 (RINF 97 3w S8 RS 938 3T (¥ FF IR FAT S|
RIRT

(@18 JOTF 9F A% A &F | ARSI FSNEF TAFE A50 4 RF HOF AR 9T TSyeTd FoaT 433
AT i1 B wooo SER i SIS 8 4 A

Question 165: Fao¥ N7 :
A. TS5l SHEHT

B.28@T

C. a7

D. SICE ey

Answer: TS

Explanation: SITS Fues NRI- ST 7 S|
ST FRIGCT AT FIEE IS (W - SCBHIe|
TS A FR@CTE FIEE (=06 (77- ATSFF |

STIerAT FEweT T TF TA®- 38151

9% AROCTE AFTGF- b, 53,000 F5f FEMAGEA|

Question 166: (FT ARBHN6F HF STTIAT A 66 OH HAF0?
A. G1fF8
B. (eT=T1e1

C. 9199
D. smifaer

Answer: S

Explanation: sTI¥<T I @G B mREa IHEE! 2T A Nesifes S sEFe
2AFBHGE IS | (S FTT S| ASHSF X SIEFT (F4 (International Rice Research
Institute-IRRI) 2T 936 TS, SrMesas, FRATTIF TR 932 AfFmpar 527711 N9 99 3o, THI,
T KT TS, AT I 4T A7 I@ (ofF 20511 aff b0 T FfsfEe 2|

Question 167: (FINT 3SETNT (F4GIT T AIF0?
A. TS
B. smIfas



C. o7t

D. 1555
Answer: FTF%b
Explanation: S>> T SFFGIASTONR §ie IIRFH afefde @ 93 SR HHH0 97 Tid "Hod |

Question 168: JSANFF 8- (NGB (F fRETa?
A. fIE16 fersrer

B. f feiber

C. F@fG

D. TS &

Answer; SdIG L1557

Explanation: JSAMEF 8¢S (ATH R - (SIS T
FOAE 8L (INGH REIE v El g TS FARA - (3 IRGH |

Question 169: TIFA a3 (& F1?

A. Trade for International Finance Agreement

B. Trade and Investment form America

C. Treaty for International Free Area

D. Trade and Investment Framework Agreement

Answer: Trade and Investment Framework Agreement

Explanation: Trade and Investment Framework Agreement (TIFA) 2T 436 I1fafdns gfe I
e = A e (AT ey IfANF 75 AT T8 FE 4| S¢ CTEBF 203 IRAWWT 3
SICE IR & &A@ Y 5P P@ Trade and Investment Framework Agreement (TIFA)
T 27|

Question 170: B1F® $93 MFH NJe 77—
A. 5390
B. YR
C. 599
D. v»a¢

Answer: $9¢

Explanation: $>9¢ ST SI@TGH NG ST SeIET 3o 67 REE & 23|
{11 Soa-77 ©Tated 9F16 6T 932 SENETT *Aod (FU| AT SIH0OH [FoT Fuod | 97




597 8 ToF- TP Twa TReNfiTe w1 f6e, T ToId, AFCE (57 432 Wi SIS ATT
A6 A1EY AfF5aT51|

Question 171: 3033 S G-20 ¥ [F5F (FINT A(0© 27?2
A. frstra

B. SIFTST

C. syfarey

D. FTt

Answer: It
Explanation: mwwaa!% - AT 100 (5E-5Y A©FF, 203)]

f&-20 97 SYSH NEHAF IAefD® 2T SIAGH MfEH® (D-So (TEHHA, 2039)| DS f&-035 FEHAT 93
0¥ f&-x0 TCHTT IFF AO® 2@ TN 93 wfHFer AT |

Question 172: Sld-S17® & F© N THH© 2?2
A.SDED
B. Y»Yo
C. Sdvv
D. 5543

Answer: S b}

Explanation: 3% S1e-51d 5 S1F® 8 SIEa A& S5 L3 T M1fbw 2@feeT | Saen A [
(A 92 &4 ST | (@ SIeF F1w olFe Ao 271 §iF foe 7@ Fa1F 79 e 904
TG AT 3 AFTR Sl ST SFG e 97131 A 7K 3@, 98T (J NS T 8F 27 ©f O
AT J@F o1 3@ | (@ SlAodl 2T IFoa%] JalFafe afF FE, ANFNR S 731 AN 7 Srpese
AT SR (7| R 9T SATFRITT FCET AT AFCNRS A3 X S-S0 JE& T @A 7
MR O FEGTT ©IRO-MFINA NS 7T (FAT|

Question 173: JRJF STSIFSN 3 :
A. (TfZ SIS

B. (GG St

C. &P 29

D. sf<mar (B

Answer: ST (&%
Explanation: NI AT 7 AFAITAT (B2 2T TS F2SIES ©e@cTa a6 AT 7 #7471 afe

fACaR STSIaes oy AT I T | TS NS AP oM@ M Sroyaa 5% 9 wraf¥e aft
af6q STEIFST M- So0,5v8 FHF|



Question 174: (36 IS (J1G" FFH BF 27 :
A. o000 N[
B. 200\ A
C. 205 N9
D. 059 N[

Answer: 2059 NI

Explanation: Siea IS5 (3t 3 Baf3: 2050 S (F6 30T (@16 AN @GS 99 FHFT BF
FEF| a6 TS TR AT S A, AHFT 972 TOET AN fodb T F & F9E | 92 559
2T SATRATT Yo% A7 g AAAGH 80% & FEXI

Question 175: I AMGE (FINT AIFFe?
A. FEIGAT

B. ARG

C. ffermea

D. AT

Answer: 2EqTE ]

Explanation: I SIM6Z X 3CUTERATE SI6R FG0TE IO 933 J26% T=A | afb spiar Jiet
IS | (S T SIS T TSP AZ 2R | R T TS T 1E3a,
@A (FIfermerer), Srel, Jesf, A Gz s, T Fofe| e FEErF A" g7es o
STTAT A3 SARATTT JRGN 1T XE TSI (TR TOHTA SFTOT STeT JitT Iaf%e | (EFe! sFefIat
00 N 2@ RS (NG 1fbe 21 fSfer sfeny f{raa st vt (i oS |

Question 176: (PN F1g "o :
A. G

B. forg2s

C. 8T

D. Ffercwifefar

Answer: FAET c:~|il, ]

Explanation: (%3533 T SIS (ISR T SA[27 36 | BF(© WSS [IRewma
FrERITE Sl 8 (BN, 2008 ST Af6d M FFFATSf GO FEF | (HINIEA v 7F: Gl
ST, S AT, FHTENAI, JEAE | (HIHIEA @I5T: Be Connected, (W@ & F1T |
(HRVEA OSSO ara o feran




Question 177: fe@1faa fEont' @T I3fre?
A. FTARGT

B. o5 anfHar

C. 7 AT

D. g ey

Answer: SICE{RT

Explanation: (3G fSt 13T ¥=g ¥ (Great Victoria Desert) X 363 SICE (AT 3 wfEFel SICE (A
il Sr%pet foary w1afse SRR Jzaw FFoH|

Question 178: (FE(G 6l ToTeT?
A. farsy

B. i

C.@™

D. (TGS 3T
Answer: IS RET

Explanation: ST SElaes TeTeTa S (TAGHAT Tovel | AL 301F ANEa SIAETE MER
ABAFTE TETTGAT ToTeT ST S | f31F =7 GIOTIIG P o 3% 2 aaid Aenae (71| Aeyd
T ¢ooo I 2ATFH BGRIAN 8 20T AT NHTTS! AP 4 TSve] TG 3T |

Question 179: foRw a3fG-
A. TP

B. ol

C. &b

D. Te1d]

Answer: STeIF|

Explanation: f6&@@ SISIwa 936 TNV Soerd | J47 A TT 7af%e 4 I4fs fomely
SACTOIF SAITE |

fSTRSIT MTGHF ST THST 38,000 Fh; IF FIAC 92 AP JNINF 7w IT 2F|

$2E> NI B [Tt foRfoma TEFET AEIEE 5% 27| $AF TR AN (T R2T
fe=lo BIF® TP AT SRS RATGT FCTH LT INIS A€ FE |

- foRTeT ASHIF 71 A7

Question 180: Elephant Pass' S19f3e?
A. ARG
B. wf%er ST



C. Ny
D. =T

Answer: Jtes7
Explanation: =T SIS SHRICE @RI AAFe AfFTHIG 7| TISHEAT (A 2T AT ©8o

fFENHIEE So@ aft e | 23 ST THEF Fiio @@ | AT T SHaT STICT AT NEFTF
foreer &, ©1% A6 STHaAR TETAF T 27|

Question 181: @ (76 ISETIT ST Ty 77?2
A. STRES

B. 6T

C. 2Co1AT

D. SIS

Answer: ST

Explanation: ST S8 AMHFEF 930 (0| (TIHT TR =29- AEeas | aft 2o@EEe
RSN T 7T | (O 1T ST TSI 2SI 27 2@ 29 6 sty (e 916
IAGF 9 TS S SO | FICT bdD© HEH b VO ML §ie I 28TF 745 g
#f$f%® 23- European Union (EU) 2SI 2@ SfSO1@rea stwsts (77 & 51 70T JEsast,
@RS, (TSI (92 f$aB (77 BENELUX 95 9189%) 1=, 1363 S, 932 291 | 2S@T
S 3[& T FTETEFTET Th S> ¥ ¢ SEH 8 T THH© 2F- CTNEE §fer; 5 FFa 7030
MG, SD>¢ TE

Question 182: (F1F FAHoF & ATTF IRATWCT?
A. Fofgfer

B. 9%

C. (3547

D. x4y

Answer: X[4]

Explanation: X1 0t S1HS} S8R TSRS (Selld BT MRS AT (¥F T3S 2
PG SASIH ToF- (P17 T ST (ST AT FER| FITANGS PR 6 AR avtiice a7
TR | XTI ST Sofaitit §2es Y32 AFETST| I ¥t R Giel afTE J7ew A1Ffod qS5 Soele
(Fa| 9% A4 (V@ AP ST A (Fe] (T T=5I% F7 2|

Question 183: (e 43e® SAHE (FRT JTFT FE?
A. =T SetfEreTeT
B. *Mfers srave st



C. g SameT
D. Tfag AN TF 3T

Answer: A7 A@:AFTF T

Explanation: =fe((e G3ow SIEHEE AN (R MV AT AT ST AT FAR 7% ©
AT IF NI MfAF AT | A GIge AHE A e I@2 (S,
FTSTT AT ©) AT | ST RO T A1F- =fete Garow AHE TIEE @ A i
ARSI 933 QAR 33 @ M fAF I@ 1 SqweT| 30T I =Nfeie Gioe SAfHEe TIEE
P31 31 F M (FTH ST AF?" NG SIS (O, BIRE N3P TS (@[ 'sMfVa SAFSTT |

Question 184: M TGH I (F1F T TS J[ % M= A2
A. I TRIHARSG

B. fe

C. IRET THRG

D. framfy

Answer: A%y

Explanation: A% su1 O 3% == A1 (S 1T STET: IFSE (F N ST o1
FAENRS NNF W (AR 1 cmET 8 [F5fe @ T 573 S S Beazest sus | afe Fares
TSTRA N F1R | RENT IRFSE TR LTZISH ST S MET M= ety I (H.0), FHT
TR IHRG (CO:), foIa (CH:), TRE ARG (N:0), S (o), @IET (FIET F1¥a 32 (CFCs),
RS FEAT FF R (HCFCs and HFCs mn) eyl

Question 185: IRATWCT NG FNF HAETS 2?2
A. S J(®FF 0019
B. YU d(®FF 20019
C. Y9 q©FF 0019
D. %@ s(®F9 x009

Answer: Y¢ S(®FF 009

Explanation: S35 S 20 2009 ST IEITENE M1 S8 971 FAAT | 2009 W7 Tod OO
TRIFTSTAT AP 58 HAIOR NS a6 8% Ao FAIG | Afox INEFTE A1 FFFTT AREH 0 LT
(Tropical Cyclone 06B)|

- QRF = o g o (G|

- 3009 N[EF S¢ NI IMOTIF (I57 el HB1F %o . 730./557|

Question 186: IRTCCTA SAA 6P WA F© ALHIIT TRT?
A. S¢o FGFHET MRT



B. @woo FGIIT AT
C. 2¢o FGIIT JRA
D. Y00 FGFT MR

Answer: Yoo FGHIIT M
Explanation: IRACTE (TSP TG 200 A LIV J12eT |

(O AT STET: LA TFS 33 ZEN- UN Convention on Law of the Sea (UNCLOS)| aft
SfoET Ao Woju 335 IR | a6 S2 ¥ TET ITFHS 27, FAFF 23- 3928 WE|

Question 187: fa6d (F16 IRTECTA WIS ST (Fa?
A. FIFE™

B. 2fa7d

C. 2513

D. feent

Answer: 09N

Explanation: - IRACTA 3263 SHNEA foor stwesal aft FreRisan safse |
- BT NHIA1RFS ST A o SIS a (N |
(O AT ST FREACT HAH ST (59 NI 27- S¢S, e 2f{E=|

Question 188: ST A V7 TINF ST GIO% @ I¢-
A. HTFTST

B. %G

C. TF6E

D. afsT61a

Answer: afSo1@

Explanation: SfISTE HARF HIGAE T (HIFH I TRCEMETGIF | AfFTTBR 2 RCMTBIR ITE
Moa ST SIS

(O AR BT B-SeTe@ ey FoE 3 (I ea 97 106, (R e 2018 e To6 o-70 HA@d
I (0T 8T AR G-I@A [F5 T AT 27| A2 FT AFHF 3 HeFFA FAGE G ¢

Question 189: frIayl AT (T TAAGT 26 (A NIG1RE® (A 3 TN A fJsfe 73?
A. sfaaze

B. frg

C. &« fasfier

D. fag38 8 ©rsf TR =y



Answer: fR’ 8 BT S5 we

Explanation: Yox% NTETH ©2F S, MM&H S 3 fAeaer a3 (3@ MAzrSw s fovssiaera
A% ST T 97 T B1T AR AR S (WIGE @), T2 T, S, (SIS, @1
AT S {7 (N SR fASIAFST TG @ | I IR (A [ASHAAE TGS ] FACT, AP 9T
Sf* FRRF S % VeI F1FT 7T AT |

Question 190: T8F (ST FRIT FAATT 1Y IS 23-
A. 5f%q F1619 i

B. (FTG1R oS &7

C. (s

D. 57 F1F F7dte

Answer: 958 F61F 7El©

Explanation: I 591 fe: Tad (ST F131F Fefare Hioa o1 fRoTite srmiis Je=ee 78 wfape
(ST SRSF FI61F @ 118 7Fenas J31Re 23|

Question 191: STET-3 (FT FHH FNENN?
A. TS

B. arftfes

C. TS

D. (ifes

Answer: (dfo3

Explanation: (I 434 AN N 93 SIET-5, Sfbw-oreb® [H617 F41 IF, I (e
ST 3T T

Question 192: SPNER TS F1?
A. TR oI

B. fagers faeg 59737
C. TTN@F fAaeFer
D. WMo FFTF T1Tel

Answer: ¥o JFCTF TqTe]

Explanation: STrSTEd oS [T P 21 A%(6 FFe {37, I A6 S SriEd aeme],
a0 fe1E 5307, [Ta0ms IIRa T3] TIEE T%e] 8 STRMRe! 2e0v [RAISET TJfMay I
YRFETS I F© FFCTR TETO! fFIH A7 AMF SRE JSNIFSIER ST AF J| (FaT], F© FFCTH
THTS NEAER TEIT IO FISH N6 FE od A1 T3 5E (ST T |



Question 193: Utilitarianism'-S&g (Y3 (F7?
A. (&R (@@=

B. 3T FI6
C. ETS [T

D. & B3TH foret
Answer: o G316 fre

Explanation: Utilitarianism' SIC3& (7% X1 & 316 foret

John Stuart Mill's book Utilitarianism is a classic exposition and defence of utilitarianism in
ethics. The essay first appeared as a series of three articles published in Fraser's Magazine in
1861 (vol. 64, p

Question 194: SPTN Te5AGT THITF (F7?
A. RS 2

B. @I, 4, 8

C. sifeia

D. frgams

Answer: fTqa:3

Explanation: ST Fo13fod Se9s g
SPNS ST SRS /ST FI THIFF - S>> W, f[Tgams

Question 195: STXT*T SHI T AGE I (F1 [GHod TIT ST (33T TAR?
A. STNfES fass
B. srrelfas o

C. YMEE i
D. IXtdfes e

Answer: Stafes a5

Explanation: SRH1¥1 S« 55 S SPIEE A{afos Maoa Sd 39 (MeT WX

SIS (NS T2 SHIF 7355 I MDG A7 T T35 (T WIS fovsfer FAT| SR wfawel T8 FAR
I TSTAFONRR TN NI AN Gfad A 5.3¢ SANFT ST FA® (IF WEWINF N (IF
(FF IF AN S| INF 52 MDG - 97 T IS STINER (e (AT T7F 879 (W7 |

Question 196: < 2T F7"-9% TGO F1H?
A. (fery



B. (8T
C. a6
D. oS

Answer: (&N

Explanation: ‘31 2 17 —a3 &6 S5 -a91

AT 6N BT NF 7@ (TR0 STquEg o ([T 2f ezt T e Tifegma My
AFS [T 0T AFEH T [SfS o F@Efee | fSfa aFe=e a3 FTRE *rorey wi@d e RE
ISR

Question 197: @feFer 8 o] TET TOIT6 ACTITE SIFHF I IET?
A. S50

B. IJMETH
C. N aIFel
D. 8H5F

Answer: 8619

Explanation: (636! 8 Toe] TH] TSITE ACIITE S3FHF SHEE I

Question 198: ITHENET TN (FTAG?
A. =3t

B. SIS

C.qg

D. &fe (Gwa

Answer: (dfeF (GodT

Explanation: JeTEIE SSNSETR S TR AT, (ST, 70y, fRwivrery, 3o 31 syéi-sna,
AAT-T5, ST, 45, 32 TS| FTETY Tod RER o= 1= Value afb sifde 1@ foafs
e T 3 =fesre e fofewe |

Question 199: ST AT YN FT6F (F?
A. STESGoe

B. LTS T

C. ETH o= 1F

D. RAET 15

Answer:



Explanation: o2 SN &Fod TG 2T I

o o

Question 200: SPTES Jelola-
A. sTfod

B. SI¥od

C. JTEH

D. SRS T

Answer:

Explanation: STTSe X1 /18, S0 8 S S T34 | SPTIEH [FIfSfS 20 SR e a3
SPTN@R e 202 SARWReT| SARMMRe] NaFIET 5o 8 AREH THET &7 [T67 FE|
SRR TR ST SfeST 7|

R (y»28) “THe: rREa Sfeser MHF 36 NG SPITAE TTF1E Aed T[],
SAEMReT, SHAET Sefy SR FIOTE, T=e] 3 ©¥F 4 H1F6 FAFA FIFT AT FT 371



